All angles pictured are right angles.  Find the area of the enclosed region.
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Find the area of a square with diagonal 20

Find the area of a rectangle with perimeter 28 and diagonal 10

ABCD is a parallelogram AE=9, BC=13, DC = 14, 
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; Find the area of ABCD, and of AECD
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Find the area of SYMBOL 68 \f "Symbol"RAG
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Find the area of the Hexagon pictured
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Find the area of (ABC
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Find the area of (PQR
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Find the area of (PQR

Find the area of trapezoid STPM, 
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A Few Area problems

1) Find the area of a rhombus with diagonals of length 14 and 48

2) Find the perimeter of the rhombus in part 1

3) How far apart are the sides of this rhombus in part 1 and 2? This distance is (of course) called the altitude of the rhombus

4) (TNK has vertex at the origin of a coordinate system . T is the x-intercept of the line 
[image: image12.wmf]5
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 and K is the y-intercept of the same line. Find the area of (TNK.

In (ARG, m(A=40( and AR=AG=20

Find the area of (ARG correct to the nearest square unit.

Find x, quickly without doing much work.
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AC=12; EB=11; BC=13; 
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Find BD and the length of the altitude to 
[image: image16.wmf]BC


Given the parallelogram pictured, with sides 5 and 12,.

Find x
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PQST is a parallelogram. mSYMBOL 208 \f "Symbol"P=60SYMBOL 176 \f "Symbol"; PT=12; WS:ST=2:7 ; 
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 Find the area of PQST
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ABCD  is a parallelogram. AD=13; BD=12; 
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Find the area of ABCD and find the length of 
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Find the area of the quadrilateral;
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The lines 
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 intersect to form a quadrilateral. Find its area

Find the area of an equilateral triangle with perimeter 36.
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Given semicircle with center O had radius 32, Find the area of square ABDE, (AOB and trapezoid AFCB
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Find the area of the figure with vertices in the coordinate plane at (0,0), (0,8), (12,-4) and (12,10)

Find the area of a regular hexagon with perimeter 36.


[image: image28.wmf]

[image: image29.wmf]A

D

B

C



[image: image30.wmf]AB

is a diameter

[image: image31.wmf]DC

AB

^


AD=20

BD=15

Find the area of SYMBOL 68 \f "Symbol"DBC
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; PK=15; PT=20; KT=25;  Find the area of isosceles trapezoid PSTK.
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 PT=20; SW=12; Find the area of PSTW
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Find the area of a regular octagon with perimeter 48.


[image: image37.wmf]
Find the area of the shaded region if the length of the arc is 12SYMBOL 112 \f "Symbol" and the inscribed quadrilateral is equilateral. 
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Equilateral triangle ABC has area 
[image: image40.wmf]9
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 A regular hexagon is formed inside it so the side length of each side of the hexagon equals the side length of each of the "left over" equilateral triangles. Find the area of the hexagon, find the perimeter of the hexagon and find the length of the longest diagonal of the hexagon.

O is the center of the circle.  The circle has radius 4.  Find the area of the shaded region
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(O and (K are each internally tangent at A. 
[image: image43.wmf]BC

 is tangent to (K. BC=12, BR=8

Find the area between the two circles.

Each of the three circles are mutually tangent. Each circle has radius 1. Find the shaded area.
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[image: image46.wmf]AB
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 are all tangents to two of the three circles pictured. Each circle is tangent to the other two and each circle has radius 1. Find the area of the shaded region.
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Find the ratio of the area of (ABD to the area of (DBC

Find the ratio of the area of (DBC to the area of (ABC
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(APQ~(ABC; AQ=8; QC=2 
Find the ratio of the area of (APQ to the area of (ABC 
Find the ratio of the area of (APQ to the area of SYMBOL 127 \f "Lucida Bright Math Symbol"PBCQ
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[image: image50.wmf]CBWABW
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; CB=12; AB=8; AW=6 

Find the ratio of the area of (ABW to the area of (CBW

Find the ratio of the area of (ABW to the area of (ABC


[image: image51.wmf]PT

TM

PR

RT

^

@

;

; Find the ratio of the area of (PRT to the area of (RTM
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 Find the ratio of the area of (HMA to the area of (HMW


[image: image54.wmf]W

H

A

M

8

4



[image: image55.wmf]E

T

H

S

W

I

A


ETHS is a rectangle; W is the midpoint of 
[image: image56.wmf]SH

. I is the midpoint of 
[image: image57.wmf]WH

 
Find the ratio of the areas of the following: 
(AIW to (EAT
(TIH to (TIW
(AIW to (AIT
EAWS to (EAT
[image: image98.emf]C
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In parallelogram ACDG, B is the midpoint of 
[image: image58.wmf]AC

 while  E and F are trisection points of 
[image: image59.wmf]GD


Find the ratio of the area of AHGD to BHDC

In the triangle below QJ:JE=3:11 and RE:RP=7:9

Find the ratio of the areas of 
[image: image60.wmf]:,:,:
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 and 
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O is the center of the circle. ABCO is a rectangle  AC=10; AD = 4;
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Find the area of the shaded region
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The circle is tangent to 
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 at F. it is tangent to radii
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E is the center of the circle that contains 
[image: image67.wmf]A
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Find the area of the shaded region.

C is the midpoint of 
[image: image68.wmf]A
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. Equilateral (s ABE and FCD are inscribed in (O. Find the area of the shaded region.  CE = 12
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A regular hexagon and a square are inscribed in the same circle, so they have two common vertices.  If the circle has radius 2, find the area inside the square which falls outside the hexagon. 

(A and (B are externally tangent at F. The radius of (A=8. The radius of (B is 2. Find the area of the shaded region.  Also find the area of (CFE
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Find the length of the shortest altitude in a triangle with sides 8, 9 and 11.  Round your answer to the nearest tenth.  
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, AB=20, BD=15 Find the area of (DBC 
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, PK=15, PT=20,KT=25, TRAP is isosceles. Find its area.
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M is the midpoint of 
[image: image76.wmf]PW

. N is the midpoint of 
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, 
[image: image78.wmf],
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, PS=10, WT=20,PV=12. 

Determine MN and the area of PSTW
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V  is the midpoint of 
[image: image80.wmf]KS

, R is the midpoint of 
[image: image81.wmf]PH

. 
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, VR = 12, PD = 8, 

Find the area of KPHS
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Find the area of a regular 12-gon if its longest diagonal measures 24.

In (ABC, m(A=30(, AB=AC=10. Find the area of (ABC and find BC

Find the length of the shortest altitude of a ( with sides 13,14 and 15.
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 is the median to 
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 in RAY.

Find the area of (RAY
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(BAC is a right angle. m(BAD = 30(, AM = 10, 
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 is a median. Find the area of (ABC. 
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In (MTV, 
[image: image91.wmf]MT
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, m(M=30(, 

The area of (MTV = 
[image: image92.wmf]8
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Determine MV

1) Compute the area of the largest rectangle pictured.

2) Compute the area of the four parts individually

3) Add the results obtained in part 2

4) Explain your results for the first three parts.
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Each square has area 64. The circles are tangent to each other and to the sides of the square. In all four cases, determine the area of the region inside the square and outside all of the circles.
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